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(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1~ 2 - - - - - - - - 27 ~ 28 - - 10000 | 1.00 - - 9.31 1.74
2 ~ 3 - - - - - - - - 28 ~ 29 - - 10000  1.00 - - 8.47 1.58
3 ~ 4 - - - - - - - - 29 ~ 30 - - 9597 | 1.00 - - 1015 = 1.90
4 ~ 5 - - - - - - - - 30 ~ 31 - - 90.19 | 1.00 - - 1015 | 1.90
5~ 6 - - - - - - - - 31 ~ 32 - - 90.19 | 1.00 - - 9.81 1.83
6 ~ 7 - - 60.38 = 1.00 - - 131 211 ~
7~ 8 - - 68.88 = 1.00 - - 1080 202 ~
8 ~ 9 - - 6888  1.00 - - 1042 195 ~
9 ~ 10 - - 76.66 | 1.00 - - 1042 195 ~
10 ~ 11 - - 7700 | 1.00 - - 960 179 ~
1~ 12 - - 8240  1.00 - - 956 179 ~
12 ~ 13 - - 8240 = 1.00 - - 998 | 187 ~
13 ~ 14 - - 7330 | 1.00 - - 998 | 187 ~
14 ~ 15 - - 7330 | 1.00 - - 1074 201 ~
15 ~ 16 - - 7085 = 1.00 - - 1135 212 ~
16 ~ 17 - - 69.54  1.00 - - 1135 212 ~
17 ~ 18 - - 69.54  1.00 - - 11.16 209 ~
18 ~ 19 - - 9435 = 1.00 - - 11.16 209 ~
19 ~ 20 - - 98.25 = 1.00 - - 908 170 ~
20 ~ 21 - - 9825 = 1.00 - - 893 | 167 ~
21 ~ 22 - - 97.58 | 1.00 - - 893 | 167 ~
22 ~ 23 - - 96.67  1.00 - - 9.11 1.70 ~
23 ~ 24 - - 96.67  1.00 - - 989 185 ~
24 ~ 25 - - 89.22 = 1.00 - - 1033 193 ~
25 ~ 26 - - 90.62 = 1.00 - - 1033 193 ~
26 ~ 27 - - 99.76  1.00 - - 978 183 ~
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